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QID : 301 - Complete the sentence using appropriate option.
IO this book since morning.

Options:

1) had been reading

2) has been reading

3) have had read
4) shall be reading

Correct Answer: 1) had been reading

Candidate Answer: 1) had been reading

QID : 302 - Complete the sentence using appropriate option.
Which tense is used to express general truths and facts?
Options:

1) Present continuous tense

2) Present perfect tense

3) Past perfect tense
4) Present indefinite tense

Correct Answer: 4) Present indefinite tense

Candidate Answer: 2) Present perfect tense
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QID : 303 - Complete the sentence using appropriate option.

According to the prevailing rate, two dozen............ rupees one hundred.
Options:

1) costs

2) cost

3) costing
4) costed

Correct Answer: 1) costs

Candidate Answer: 4) costed

QID : 304 - |dentify the tense used in the given sentence.
"Sasha scolds and asks her to go way."

Options:

1) Past indefinite tense

2) Past perfect tense

3) Present indefinite tense
4) Present perfect tense

Correct Answer: 3) Present indefinite tense

Candidate Answer: 3) Present indefinite tense

QID : 305 - Select the most appropriate option to change the sentence from direct speech to indirect speech

She said, "l am visiting London next weekend".
She said that ............... visiting London the .................

Options:

1) She is/following weekend
2) she was/next weekend

3) she was/following weekend
4) she will be/next weekend

Correct Answer: 3) she was/following weekend

Candidate Answer: 1) She is/following weekend

QID : 306 - Select the most appropriate option to change the sentence from direct speech to indirect speech
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He asked Betty, "Do you like sweets"?
He oo know if Betty......... sweets.

Options:
1) want to/like
2) wants to/likes

3) won't/liked
4) wanted to/liked

Correct Answer: 4) wanted to/liked

Candidate Answer: 3) won't/liked

QID : 307 - Select the most appropriate option to change the sentence from direct speech to indirect speech

He said, "Do you speak English?".
He asked me whether ----- English.

Options:

1) He speaks
2) |spoke

3) They speak
4) You speak

Correct Answer: 2) | spoke

Candidate Answer: 4) You speak

QID : 308 - Select the most appropriate option to change the sentence from direct speech to indirect speech

Nancy said, "We went for a summer trip last year".
Nancy said that ............ for a summer trip .......ccccveveee.

Options:

1) we went/the last year

2) she went/the year before

3) you went/the coming year
4) they went/the previous year.

Correct Answer: 4) they went/the previous year.

Candidate Answer: 4) they went/the previous year.

QID : 309 - WIS TE FHT AT F8-
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Options:
1) G+
2) W+

3) A+
4) TR+3MS

Correct Answer: 3) IR:+4]

Candidate Answer: 3) T:+9

QID : 310 - IT FHT A>T Fg-

Options:
1) 3+ad
2) 3q+3g
3) 3a+y
4) 3q+3T

Correct Answer: 4) 3d+3{g

Candidate Answer: 2) 3¢+3[g

QD:311- PRIEdas-TY g

Options:

1) fommmy
2) gren
3) gefRd

4) <iuch
Correct Answer: 4) GlU®

Candidate Answer: 3) @3{Tgd

QID : 312 - B HAMT YETaX BT 3 FTGAT?
Options:

NIE S S
2) 79 HAT

3) ggl gl
4@ dgH

GET IT ON
Google Play
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Correct Answer: 2) 7d Al

Candidate Answer: 2) 7d &l

QID:313-Fole Y ehT  f1d 8-

Options:

1)%‘[»:,.::::159[

2) 91 Tt

3) ASHHAR!

4) I

Correct Answer: 2) 9l il

Candidate Answer: 1) g o1

QID : 314 - Sff TRIAT YTaR B 34Y B-
Options:

1) ST T A/ AT

2)§d B HAT

3) B I YT

4) HTH R AT

Correct Answer: 3) P H YET

Candidate Answer: 3) B I U

QID : 315 - FU A e TE 2

Options:

1) §UG
2) 919
3) 90
4) 9q1

Correct Answer: 2) d[J

Candidate Answer: 2) dlJ

QD : 316 -FAfa@er A&t F-IﬁToTGﬁT BB G

GET IT ON
Google Play
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gf SHAGER Al F ft Tgax SRS TH PHaaismh o I 07 g0 U § AgAH dhda | <§1 agt
B oW 8 USTH DHAE R AP gl STH BN § oF ARG PR Y T B B ol 3
SHaaml S8 98t gt Xgdt Hal Siad fodhd |

A RNHAE T8 2 S HYF TE A 8 I Blear T Wy

Options:
1) Site i q oM
2) U I faRIeR

3) SEX b DM
4) D3 Bt 3G

Correct Answer: 2) 307 &1 foavieht

Candidate Answer: 2) 3{07 &1 foaRiel

QD:317-PafaEwr As -MugdR BIST T

HAFY FFAET T8 R DHaTE 1 g R et 96X F § B aara o) 3 offe a7 o et

g SHAGER Al F Hf TgaR I T@H Raae i sh 3 I 94 & U § AgAH o o8- a8t
B K EUGIH PHAGHR H B 98 STH Ball § oFH HaERGI S g Y T I B Gl A

fopdamHl oTEl §¢1 Bl Yo Wl A ol

Bl (@RIY Wd RIfBIN0)

Options:

1Hg

2) RFeRS
3) Y

4) SRIDHIHIT

Correct Answer: 4) CREAR |

Candidate Answer: 4) SRI®HA!

ap:318-FPafa@Eewr dArs RUgdR BHIST T

AP oFRBdE d 981 REH DHATH &1 g IH: 9id 968 & § H Lhda | Mﬁmmwﬁﬁ

gfo SHATER A I ft Tga SR @H PHda i o & 79 8N U § AgaH Dwde| /R T8l
B9 W § UgdH LB R ﬁrﬁﬁsﬂﬂﬁv—mﬁa TRGAERE B RY A B B &l A

Options:

1) 9§ DI
2) IR BI
3) D3 IR P I
4) ad 2Bl Bl
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Correct Answer: 3) O3f 3R R Pt

Candidate Answer: 3) S @T@ﬁ

QID : 319 -

qf?aw AP AU M @ISR T
A 3
B9 aﬂ—cﬁgu%%rﬁ SHATER ﬁﬁag-cﬂsqnwa
faaemt o8 91 gt g gl Slad s |
T@ﬁﬁﬂ I B! parerd 3R HR It § 2
Options:
1)g WABRBABT  oTd8T GBI TATHI
2) Gg B b
3) g I TADBR
4) JUC GHR

Correct Answer: 1) § TR R IADI  o[dg] GBUN TATDHR

Candidate Answer: 3) g HI¥Y IcIhR

QD:320-FPAfa@E® WH FATCIIR HIST T

ﬁﬁﬁ%lﬂﬂﬁéﬁﬁﬂ?ﬂ@ﬁfﬂﬁ?ﬂ?&?&nﬁ@rmwwaﬁm?wﬁl BT TRT
O el g UgEH fobdTa R ﬁ{aﬁae?ﬁs':mﬁwaﬁg HHAEREI B ER Y T DI HR T I

Options:
1) SN RA AR & HRUT
2) & TS TR &R Wi & Dawer 12 819 & SRu

3) Bh WA HRb
4) AR AT 8H & BRI

Correct Answer: 2) <l T8 STHHRI &R Uil & foq@eT A3 811 & BRI
Candidate Answer: 2) il Tl'sc STHBRT B tﬁﬁ & f\?fQFIET :FS§ @ﬁ ® BRI

ap:321-PAfa@e dTd WA UEIR  BISY g

HHAFY HFAFET TS REF DA 1 5 TR 9 T & § B Lbae o 1 sifa a7 o e

Bl SHASER Al lﬁwww RCRICIRTE AT %mmﬁﬁrgﬂeﬂﬂ chdidl ofRT EI%T
B WA E UGTH DHATHR H P! I8t 399 Bak 8 oFo

fpara sl S8 ¢t gldil Tgdt Jal SiaH fdbard |
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SRIDIHAT BT 3 AT B?

Options:

1) 3FHE
2) e
3) He'l

4) BIAdT

Correct Answer: 1) A

Candidate Answer: 4) DIl

QD:322-PAfAEA e A UGIR BT ¢:JHITT § I A1 8| T8 Sid Y o -
IS T TE b o T A TR O G| I WIR T R T St F @i g, I W & A1 Sftad
TOIRT 8 3R {5 &t 9a1c 31, 98 Ge 81 991G 81 T 8| T H1 Y. 39 Tare! d IR ST Y6hs & Ui
o8 N USH g Tl A R Wl YS! U fouen fad J ge Kl 81 HToiwd dl ds 07 oI ot I 3
RPgorem It TR Degmman 81 AT ey Ry SRegnm o ey, Bagw
WA DF FRb AU SNaTd d DI U1 Jhd 8l

1R I I BB vite o R AT ora o o) -
Options:

1) Sfta &

2) IR B
3) TG Bl
4) T B

Correct Answer: 3) TG Bl

Candidate Answer: 3) JHg &I

QD:323-PAfaEAoim®ed A UGIR BT ¢:JHYTT § I A1 8| T8 Sid Y oY AR
IS T T b o T A TR O G| I WIR T PR T St F @i g, I W & A1 Sfad
TSI & 3IR STy & 9aTc] 31, 98 Ge o) 991G 8 W g | T H1 Y. 39 Jare! d OBl 4s & 9id
27 Vucr g a3 R TS @S b Heh ad I ge Sl 81 3Moihd ol B 1d oTerh 330 J 3=
Rgoem Juft TR Degmman 81 @ AwE ey Ry SRegnm o ey, Pagw
WA DF FRHAMTASNaT S A DI U1 JHhd 8l

SHIT & AT Sha ToIRT

Options:

Rvrr 2pata ol it G |
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4) oS HHa &1 §61g fohar
Correct Answer: 3) SRFEFI DI S B

OSRHY &I §9Te fodar

Candidate Answer: 4)

QD:324-PAfaEaom®l MRUgdR  HISY T IHFTT J I 8T g1 T8 oid SY Y Ara-
RIS TY Td R Ht 3 U TR o Wb | IY AR AT T H1 & &1 ], 3T W & 1Y Sfta
ORI § 3R ST &1 961} &1, Te Y Sl Sl gl TS I T 1. 39 WalTs! A OB A6hs & Iid
0% N UCH IF TR A W WL XA T FHeeh Fad F ge o §1 e dl s 10 o 3 F 3
R orm Ju ot oA e &1 @l wm ety iRt e wmg o ey, fagw
SgA DI d PRb A UA AT S A DI YT hd Bl

Options:

1) Tars! ESHT 3R ¥ U Tiar foags!

2) T8 1 Bouwed ge

3) Tare! A 3R | Uee a1 L egg) iR ag a1 <Foraest ge 7 gl
4TI TR

Correct Answer: 1) Tdle! OSHHME! 3R | U Tl foags!

Candidate Answer: 2) 38 a1 cDod®E ge T8

QD : 325 - 9 o Tar i &Y r:ﬁqaaﬁv BIII . 9Hgdd Eﬂ:[gﬁ?ﬂ% qgaﬁaa‘rqt—ﬁfﬂ@_
IS T T bl T A0 ST o Wbl | 39 WIR T PO T Bt Bl g, I W b A1 e
TR 2 IR PO &1 9a1e] 1, 98 GE S S 8 T 8| T BT 39 TS @ IR BTSN 968 F I
°% N UCH 9% TR AF R T IS U ek fad § e ST 5| Moied ol ds f0d o1 a8 ¥ o
R orm Ju ot oA e &1 @A T ety iRy e wmg o ey, fagw
SaA DI H PRbAUA AT S A DI UThd Bl

B DA D S IAY  CETH BT 62
Options:

1Hd YISl

2) 3 AYd §9 91 8

3) d Tt Pawal 100% 3% T FHRA &l
4) UASIAT @ P U1 Hhd g

Correct Answer: 4) 3UASlad & d &I U1 hd Bl
Candidate Answer: 4) 3UASlgd® d Dl U1 Ghd gl
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QiD:326 -PAPT@EA o H oA UGSR  HISY T:JUITd Y I 8l g1 Tg oid oY < aral-
TR T8 Td IR Ht 3 a0 TR o Wb | YR ARSI T H1 & &1 §, 3T W & 1Y Sfta
TOIRT & 3R S &1 §61d] &1, ITE e &l Jel ol T g | T H1 Y 39 Tare! § Y- BTell Y e & Ald
08 A UEH IH T A R WS YS! U forAdh foad ¥ ge Sl |1 Mo d ot s 107 oTadi 38 I 3
R oam Ju o oA Degrmn e @A ey iRy e wmg o ey, fagw
AP ® PRb dATASaTH @ I I1 9hd 8

ST RIHIIWY Mo ghM
Options:

1) T B
2)SligAH1d

3) 107 o1eeltaT 1 99y &1 Hg
4) 3R

Correct Answer: 1) HHJ dI

Candidate Answer: 4) 3R

QiD: 327 -PAfA@EW o H oA UGSR  HISY T:JHITd Y I gl 81 T8 oid oY < aral-
RIS TU Wd b Ht Y a0 TR o GhdT | 3 IR A S T H1 & 31 ], I W & 1Y SffaT
TOIRT 8 3R ST & §a1d] &1, Tg Fa 8l Jal 8l T 8| T H1 Y 39 Tare! 4 Y- BWel Y e & Iid
08 A UeH IH T A R WS YS! U foraan foad ¥ e Sl 81 Mo d of &8 107 oTaai 38 3 3
R oram Ju ot oA e &1 @A wE ey iR W s e o ey, fogw
AT P ® PRb dATASaTH @ Bl 1 Gohbd 8

A HIAG o Tl T S a1 gRTI?
Options:

1) JQHY

2) ggHyg

3) Gl

4) Ebﬁé T-|_E,p[

Correct Answer: 1) JUHY

Candidate Answer: 1) JYHY

QD:328-PAfa@Eom® RUgAR HISY T IHFTT J IF 8T gl T8 od IY O Ara-
TRl T8 Td IR Ht Y U TR o Wb | YR AT T 1 & &1 §, 397 W & 1Y Sfta
TOIRT 8 3R ST & §61d) &1, TE Wa 8l Jl 8l T8 | T 1Y 39 Tare! ¥ Y- BTel Y e & Iid
08 A UeH IH T A R WS YS! U forAd foad ¥ ge Sl |1 i d ot s 107 oTaai 38 I 3
RPgoem It TR DegEman 81 @ dwE ey Ry SRg g o ey, Hagw
ST ®HIH PRb U SdI b @ Dl U1 Fhd 8l
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P T §1E B 9IdT 872
Options:

1) 9T B! JY H SRETG B arel
2)THI B Y | AT JqIE B aral
3) Y49 P! Y H FEIG DA arell
4)@'-5{:?;:@9[

Correct Answer: 1) THI &I JY H SRAIG HA drdl

Candidate Answer: 1) THI ®HI TY H SRATG H ardll

QID : 329 -
RIS T Td b Ht 3V a0 TR o Wbl | 3 IR AT Tl & o1 ], I W & 1Y ofia
TOIRT 8 3R {5 &t 9a7c 31, 98 GG 81 961G 81 T 8| T H1 Y. 39 Tare! d IRSTeN I6hs & Ui
27 Vucr g el M R TS IATS b Heh ad I ge Sl 81 3oihd ot B 1d oTerh 330 J 3
RYgorem Iwft TR Degrman 81 AT ey AR SRegnm o ey, Bagw
MBI F PRb I AU SgI S @ Dl U1 ghd &l

ARAl-RIS] T8 T B W R TR S GhdT?
Options:
1) IHT DI
2) SRR &l
3) T 3R SR gt
4) aﬁé z:i?i:s:I_E,FT

Correct Answer: 1) g Bl

Candidate Answer: 3) YA 3R RN &1

QD:330-PAfTEA e A UGER BHIYY ¢:JHYTT § dH I 8| T8 Sid Y o AR
FAS T T b U 3/ A0 TR A bl | 39 YR A Dot Tl & 31 7, I @ & 1Y ohad
TSI & SR fOSRETg & 9aTd] 31, 98 Ge o] 991G 8 W gl G H1 Y 39 Jare! d OBl Js & 4id
28 Vucr g@ T8l I R TS IATe! b Heh ad I ge Sl 81 3Moihd ol b 1d oTerh 331 I 3=
RPgorem Aw et TR Degmman 81 AT ey AR SRegnm o ey, Bagw
WA P ® PRB A ATASNATF @ ! I Jhd Bl

T & . J B g & A@Ug a7 o1 H $IF 3§ Iaexv 3 g
Options:

1) TAE!, St Yhe & 9id 158 & U I T/l

2) M W WIS IAS U fOHeh foad ¥ ge e

3)35@2@,@1?5%%@& 08 N USH IH TATE SR M W WS YS! U oradh fogd A ge oy gFt
4) .::f::;:rgﬁ
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Correct Answer: 3) JdTs!, Sl 9hs & IId 07 W UH I TR 3R AF W Wl YS! U foHTah
BEC KT |

Candidate Answer: 3) WAl , S 98 & U4 28 W Uewh 9o T8l 3R 3 R Wl XaS! T fHah
s:;:::saﬁi?rﬁ‘c'am Ea:ﬁ

QID : 331 - In a town of population 100,000, 20% have internet connection. And those who have internet
connection, 15% use PTCL internet service. How many people have internet service other than PTCL?

100,000 3TSTE! 9T Uh TR H, 20% P U S b T8l 3R T gexac b 78, ITH I 15%
HiERiiud Sexe a1 T IUTNT Hd g1 TN & 3fefar fobdanT & Uy $ex-ic a1 82

Options:

1) 3,000

2) 7,000

3) 12,000

4) 17,000

Correct Answer: 4) 17,000

Candidate Answer: 1) 3,000

QID : 332 - A library has an average number of 510 visitors on Sunday and 240 on other days. The average
number of visitors per day in a month of 30 days beginning with Sunday is:

U6 Y P H RIaR Pl S Ha 510 3Fige R 8 £3aTH 240 Sige 31d 81 RGaR A Y 811 a1t 30 Fogith
q’fﬂﬁ‘q iziﬁj:emaﬁmq s:Ij::%:

Options:
1) 300
2) 290
3) 285
4) 295

Correct Answer: 3) 285

Candidate Answer: 1) 300

QID : 333 - A mixture contains milk and water in the ratio 5: 1. On adding 4 litres of water, the ratio of milk and
water becomes 5: 2. What is the quantity of milk in the original mixture?

T fOH U gY SR U &7 SFIUTA 5:1 § 1 4 TeX U OHAMR Y IR UIHT &1 SfUTd 5:2 81 Il ¢ | Jd o7 ure
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QYDA o 8?2
Options:

1) 40 litre
40 e
2) 36 litre
36 diex
3) 20 litre
20 TR

4) 24 litre
24 TR

Correct Answer: 2) 36 litre

36 TleX

Candidate Answer: 1) 40 litre
40 dte}

QID : 334 - What is the quantity of water should be added to a 75 litre mixture of milk and water so that the
percentage of milk in the mixture decrease from 75% to 45%7?

Y SR U & 75 ofieR fon o ot ot Rwa o wariaret fie Pt gyt fa=iars 3 gea 45% B
T2

Options:

1) 50 litre
50 Tiex
2) 75 litre
75 diex
3) 25 litre
25 Tlex
4) 40 litre
40 diex

Correct Answer: 3) 25 litre

25 diex

Candidate Answer: 2) 75 litre
75 Wi}

QID : 335 - A certain sum increases by 50 % in 5 years. Three sums x, y and z are lent for 10, 15 and 20 years
respectively. If amount on each sum is equal, then find the ratio of x, y and z.

s AT R 5 a9 7 50% ¢ ot g1 < Rt x, y 3Rz | 10, 15 3R 20 99 & AR & 7 81 fig
FY IR NRTRIR G, A x, y AR 2 HT A TR

Options:
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1)6:5:4
2)9:4:6
3)9:6:5
4)9:6:4

Correct Answer: 1) 6:5:4

Candidate Answer: 1) 6:5:4

QID : 336 - Mohan invested Rs. 100,000 in a garment business. After few months, Sohan joined him with Rs.
40,000. At the end of the year, the total profit was divided between them in ratio 3:1. After how many months did
Sohan join the business?

g9 1000,000 T HUST Ja9™ | fo—1 foHaTHe HelHl & d1G, We 40,000 T & 1Y I 1Y 9 T
Y & 3fd A, HA A 3P &1d 3:1 & 3ud H D afiedowaman e Dearen de aua 7 Rma 82

Options:

1)3

2)2

3)4

4)5

Correct Answer: 2) 2

Candidate Answer: 1) 3

QID : 337 - Which states of India has borders with three countries namely Nepal Bhutan and China ?
YRA & DHRr &t A <= <=1 Aurd, Y ok 919 & e 82
Options:

1) Arunachal Pradesh
HUEA ¥
2) Meghalaya

3) West Bengal
eS|

4) Sikkim

o H

Correct Answer: 4) Sikkim
o H

Candidate Answer: 3) West Bengal
eS|
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QID : 338 - Which of the following states of India does not have common border with Myanmar?
YR PARTEa I e o AR S Ty I I ST@?
Options:

1) Assam

Y

2) Nagaland

EIINES]

3) Arunachal Pradesh
JUMEA o™

4) Mizoram

Correct Answer: 1) Assam
STHH

Candidate Answer: 2) Nagaland

QID : 339 - Which is the governing body of the Department of Atomic Energy in India?
YR | TRATY] Soll foaHmsT IR foTdmTam 91 82
Options:

1) Atomic Energy Commission of India
URT BT TRHTY] S0l AR
2) NITI Aayog

3) Department of Space
A fogynT

4) DRDO

SIEIRSE]

Correct Answer: 1) Atomic Energy Commission of India

YR DT GRHATY] Sl ST

Candidate Answer: 4) DRDO
SRS

QID : 340 - Which country signed a partnership agreement with the UNWTO for promoting tourism?
Jge & 9¢1dT o1 & TEHHI 7 UNWTO & I1Y ISR 99l e ok fowe

Options:
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1) Sri Lanka
‘1@‘[

2) Myanmar

3) Laos

SIEIRS]

4) India

YRd

Correct Answer: 4) India
URd

Candidate Answer: 4) India
HRd

QID : 341 - Who is the first Indian female boxer to win a gold medal in the Commonwealth Games?
J HSA[A T U1 UG S aTalt Ugelt YR ey S &1 82
Options:

1) Pinki Jangra
e::i:::»'qﬁm

2) Mary Kom
BNk

3) Manisha Moun
T A

4) Simranjit Kaur

Correct Answer: 2) Mary Kom

NI

Candidate Answer: 3) Manisha Moun

A A=

QID : 342 - Who is the first Indian woman to win an Asian Games gold in 400m run
fozrTE @l BT 400 MR SIS H U7 SitaH aTell Ugel! YR fHgar o 872
Options:

1) M.L. Valsamma
TH.UA. 9ad

2) P.T. Usha

.. W

3) Kamaljit Sandhu
HHSI He

4) K.Malleshwari
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».7 o3

Correct Answer: 2) P.T. Usha
qid. 3w

Candidate Answer: 1) M.L. Valsamma
THUC. 98 ol

QID : 343 - Which writer won the JCB Prize for Literature for his novel ‘Fire Bird’?

SPHID A AT IT  RBPRR 98 & SAE @I SreTet R oTIT?

Options:

1) Arundhati Roy
S3fed g

2) Perumal Murugan
U qdg ™

3) Salman Rushdie
oA df

4) Jeya Mohan

ST Hig

Correct Answer: 2) Perumal Murugan
U qadg ™

Candidate Answer: 4) Jeya Mohan

ST Hig

QID : 344 - Name the state animal of Bihar ?
fOagRP AT U BT AH FA?
Options:

1) Elephant
Rl

2) Tiger
CIRTR

3) Bull
ERIGIS)
4) goat

Correct Answer: 3) Bull

ESIGIS)

Candidate Answer: 3) Bull
EEIGIS)

GET IT ON
Google Play
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QID : 345 - According to Right of Persons with Disabilities Act (2016), which of the following term is appropriate
to use?

R R (2016) & SFER, 7 H I oy W@ &1 v 30 d 82
Options:

1) Retarded student

ffogasT

2) Handicapped student

s:::::-EIWT B3

3) Student with physical disability
T ooz fEmargl

4) Students with crippled body
BT ST S=d TRR

Correct Answer: 3) Student with physical disability

Candidate Answer: 2) Handicapped student

QID : 346 - The application of Vygotsky's theory to children's education proposes .
&l 1 fomr b e #p 07 d ®13g AT fefrad HRal &
Options:

1) Collaborative learning
TN HBIHETH

2) Operant learning

ogr g f3rerm

3) Rote learning

I qfdfeTH

4) Passive learning

o9 g f3eH

Correct Answer: 1) Collaborative learning

TEUNT HBI31EMTH

Candidate Answer: 4) Passive learning
o g3

QID : 347 - Ruhi believes that she did not study properly which is why she did not get good marks in her science
test though she can do science quite well. She is attributing her performance to

%3[ CARIGEI % SIS 3P A tl—(.!'l'g =r§>°r ot 2SR 3P f0F oI TR oA 31 & /R .::f::e'_ﬁ%n-q Sfgd dg
ST oM Ed 3 BT YT IbAI el B AU IR BT SRIYY DHHHRD P PRI 8 2
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Options:

1) Environmental factors
JIaRU HRb

2) Lack of ability

Il gaTdh! HH

3) Lack of effort

fopT=r=r Bt it

4) Tough luck
[ELERILK

Correct Answer: 3) Lack of effort

e &) Bt

Candidate Answer: 3) Lack of effort
fopT=I=T Bt Bt

QID : 348 - What is the main goal of 'assessment for learning'?
e & DaemeaT 19 T @@ aqTg?

Options:

1) To compare student performance to a standard or benchmark

2) To provide feedback to students that can be used to improve their learning

>F ot A F B oS eB T 3% 3 7 gUR & A waw adbdr §
3) To identify students who can be categorised as 'slow learners'

S 23 o) UgaH HRAT R oedH W atdt U H I d D Sahdl §

4) To evaluate student performance and assign grades

39 olEp SR 1 H Tl A1 SR S &l

Correct Answer: 2) To provide feedback to students that can be used to improve their learning

9 STYTET T‘I'E{T QI hAT oSBT 3¢ e | JUR & A HawT hdr %

Candidate Answer: 4) To evaluate student performance and assign grades

QID : 349 - At Which age can children engage in word play and like jokes and riddles that involve a play on
words?

ﬁmn Y 3P WA 7 R g Jovd g 3R T gegpal 3R Tgfoamin! uie &R gdhd § o4 26} &1 3d
?

Options:

1) Seven years
Hid dY
2) Three years
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GIBEL

3) Twelve years
dRg dy

4) One year
Uch dY

Correct Answer: 1) Seven years
Td 99

Candidate Answer: 1) Seven years
id dy

QID : 350 - Dysgraphia is a :
Options:

1) Psychologlcal disorder characterized by lack of attention and impulsive behaviour
Th Al e gere ol a®idr I &7 31HTd 3R aTRiid Ja8R Bl

2) Neurologlcal disorder characterized by trouble in forming letters and shapes.

S dhag STRAr 3 3R 3MHRI Bl I A fhoTs 3

3) Speech dlsorder characterlzed by stuttering and errors in articulation.

T U] a1 o oel g%l g6 3R 3 IRUY  eaw gl

4) Locomotor disorder characterized by gross motor impairment.

Th fﬁ?l’g d s::::::»HEFT% RGBT L] Yol it famerdn %I

Correct Answer: 2) Neurological disorder characterized by trouble in forming letters and shapes.

& dfoaa Daere omahagar o3 iR SMHRI 3 §7H F e 3|

Candidate Answer: 1) Psychological disorder characterized by lack of attention and impulsive behaviour

Th 19 e aere Dot a%idr I &1 3iHTd iR 3maTiial Ja8R 7l

QID : 351 - The Declaration of the Rights of Man and of the Citizen was inspired by:

T SR AN S & USRI ST avon Deed Xd o

Options:

1) American Revolution
2) Indian Independence Movement
YR d 1 sigrad
3) Russian Revolution
@ fid
4) Chinese Revolution

It g

Correct Answer: 1) American Revolution
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Candidate Answer: 2) Indian Independence Movement

YRA ar sfigad

QID : 352 - What was the fate of Adolf Hitler?
Q@ﬁ =B CAThl HI = J1d
Options:

1) He was assassinated

JABIE WIS

2) He died of natural causes

3) He was captured and imprisoned
39 U s foammn 3R Fe = Foaamn
4) He committed suicide in his bunker

I SO FIR A MG B Tl

Correct Answer: 4) He committed suicide in his bunker

I SO FIER A MG B

Candidate Answer: 4) He committed suicide in his bunker

IO YA TR A MG oWl

QID : 353 - What is the minimum age requirement to contest elections to the Lok Sabha in India?
HRA A AHgHT BT A T & AT Iqd S A 82
Options:

1) 25 years
25dY
2) 21 years
21dY
3) 18 years
18 dY
4) 30 years
30 d¥

Correct Answer: 1) 25 years
25dY

Candidate Answer: 1) 25 years
25dY

QID : 354 - Which of the following is an example of human-made capital?
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7 B @@ ¥ o Ara £ RAds o1 3areRu 82
Options:

1) Rivers
et

2) Factories
HREH

3) Forests
aq

4) Minerals

[ECE]

Correct Answer: 2) Factories

HREM

Candidate Answer: 3) Forests
aq

QID : 355 - In India, the official religion of the state is :

YRAAY &I RMYPTIIH 40 T
Options:

1) Hinduism
s::;::sg Yy

2) Islam

T oM

3) Christianity
ERIERL]

4) None

FHIAPE ST

Correct Answer: 4) None

FHIAPE ST

Candidate Answer: 1) Hinduism

QID : 356 - Which river forms the boundary between India and Nepal?

P T 7 HR 3R JUTA & S JHAT ST 872
Options:

1) Ganges

i

2) Sharda River
TR At
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3) Yamuna

T
4) Sutlej

RENE

Correct Answer: 2) Sharda River

QRaT Hal

Candidate Answer: 2) Sharda River
RITHE |

QID : 357 - The Indian Association was founded by whom?

AP ma Pead oRE a:;:;:ssu:q&ﬁﬂﬁvﬁ I YT P Tlg ft?

Options:

1) Shishir Kumar Ghosh and Radha Kant Dev

CRRGAR 99 SR AN BT T

2) Surendranath Banerjee and Anand Mohan Bose

W AU 3R 3fFHE Higd I

3) Surendranath Banerjee and Bankim Chandra Chatterjee
4) None of these

FADR ST

Correct Answer: 2) Surendranath Banerjee and Anand Mohan Bose

W AU I 3R 3fFHE Higd I

Candidate Answer: 1) Shishir Kumar Ghosh and Radha Kant Dev

s::;::sﬁ'l'-‘l'lﬁv_qﬂ 9y R IJUI BT qd

QID : 358 - In which year did Mahatma Gandhi become the President of the Indian National Congress?
Hel AR A P rwEy URAT T T FHT A ar fomaur?
Options:

1) Kanpur 1925

PHIFYR 1925

2) Belgaon 1925
g 1925

3) Kanpur 1919
HIFYR 1919

4) Belgaom 1924
TG 1924

Correct Answer: 4) Belgaom 1924

IIG 1924
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Candidate Answer: 1) Kanpur 1925
PYR 1925

QID : 359 - When did the Treaty of Versailles take place?
I B Afaps 37
Options:

1)in 1918
19181
2)in 1920
1920 |
3)in 1942
19429
4)in 1919
1919 |

Correct Answer: 4) in 1919
1919 H

Candidate Answer: 3) in 1942
1942 H

QID : 360 - Which commission was constituted to inquire into the violence that took place during the nationwide
protests against the Rowlatt Act?

JACT & TAH TN T DaRigh aRA - g 281 &) Wi & fad ST &1 e eamar ar?

Options:

1) William's Commission

° G2l

2) Hunter Commission
TR AN B

3) Nikalson commission

TR TBIRIRT BT

4) Digby Commission

D8 CBITINT BT

Correct Answer: 2) Hunter Commission

gex 3TN &1

Candidate Answer: 2) Hunter Commission

gex 3T &1

QID : 361 - In which year did the Kakori train action take place?
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FHRI AT dfHFwy 3
Options:

1) in 1924
19249
2)in 1926
1926 9
3)in 1925
19257
4)in 1930
1930 |

Correct Answer: 3) in 1925
1925H

Candidate Answer: [ NOT ANSWERED ]

QID : 362 - Dandi is located in which state?
Tetfew A3@yd 82
Options:

1) in Bihar
SERIR

2) in Gujarat

3) in Rajasthan
XS YT H

4) in Kerala

IRAH

Correct Answer: 2) in Gujarat

E q

Candidate Answer: 2) in Gujarat

ﬂ q

QID : 363 - What pact did Congress and Gandhiji make with Bhimrao Ambedkar?
HITRTG SieEax & W Hi ¥ IR el St 3 H-<ft Wi ami?
Options:

1) Poona Pact
gy

2) Bombay Pact

CI|

3) Calcuttg Pact
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HAD oTd
4) Banaras Pact
TR T

Correct Answer: 1) Poona Pact

IR

Candidate Answer: 3) Calcutta Pact
el o1

QID : 364 - Where was the annual session of Congress held in 19297

1929 A &1 ¥ &1 faToeh fed=H Hal 3 U1?
Options:

1) in Lahore

aRR A
2) in New Delhi
3) in Calcutta
Hldh oTH
4) Madras
H T9H

Correct Answer: 1) in Lahore

aRR A

Candidate Answer: 1) in Lahore

ARR A

QID : 365 - Land which is left without cultivation for one or less than one agricultural year is known as

S Wb g] Uch IS HEHY B e:::::sa'@?ﬁ % s::;::;m MESIGI % 3T & UH S S % |
Options:

1) Gross cropped area
2) Culturable wasteland
s::::::-Em SO HioH

3) Current fallow
IHM TRt

4) Grazing land

WATE YfoH

Correct Answer: 3) Current fallow
IHM TRt
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Candidate Answer: 4) Grazing land
=H

QID : 366 - Which is the smallest forest state in India?

YR BTG BT II A DI T 82
Options:

1) Madhya Pradesh
7o

2) Punjab

LEIES

3) Andhra Pradesh
3 o

4) Karnataka
HAICH

Correct Answer: 2) Punjab
EIC)

Candidate Answer: 1) Madhya Pradesh

T

QID : 367 - Which of the following are the primary causes of water pollution?

ARTEA AP QU S oTRHEHRU 82

Options:

1) Plants
qY

2) Animals

ER!

3) Human activities
Ay Midfaemr

4) None of these

THADE TR

Correct Answer: 3) Human activities

AdTa ffafeat

Candidate Answer: 3) Human activities

Ada ffafdeat

QID : 368 - Which state is the leading producer of Pyrites?

DHAAY  URRZCH BT T 3 olGH 872
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Options:

1) Rajasthan
NEKIC

2) Karnataka
HAlCH

3) Kerala
A

4) Bihar

Correct Answer: 4) Bihar

EI:Z:-W

Candidate Answer: 2) Karnataka
DlCh

QID : 369 - With reference to the minerals and districts where they are predominantly found in Bihar, consider
the following pairs:

Which of the following is/are the correct pair?
i Feldspar - Bhagalpur

ii Pyrites - Jahanabad

iii Granite - Bhagalpur

iv Gold - Purnea

SoeT Rl ok ds ey ASRidY U9 UUSdg,
At T oF IR I g ?/8?

i TR HIETATYR
i GTSRISCY - SIglHIdlq

Options:

1) Only jii
Had T jii
2) Only ii & iii
I ii 3R jii
3) Only i,ii & iii
iii 3R i
4) i, ii, i & iv
i, i, iii 3R iv

Correct Answer: 1) Only iii

»ad Tiii

Candidate Answer: 4) i, ii, iii & iv

i, ii, iii 3R iv
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QID : 370 - Which is not a mineral based industry?

I T RIS 3T IT 3 1T AR?
Options:

1) Iron and steel
?ﬁET Gﬁ? T old
2) Petrochemicals
3) Cement

diwe

4) Rubber

REN

Correct Answer: 4) Rubber
REN

Candidate Answer: 4) Rubber
REN

QID : 371 - The perimeter of the 20 meter long and 15 meter wide garden is-

20 Hiex & quT 15 Hiex 9IS a7 &1 U 3919 8-

Options:

1) 35 meters
35 Hiex

2) 70 meters
70 Hicx

3) 140 meters
140 HIR

4) 5 meters

5 HleX

Correct Answer: 2) 70 meters

70 Hiex

Candidate Answer: 1) 35 meters

35 Hiex

QID : 372 - The capacity to hold a vessel is called-

SHERAT P YR S B Tal Hean! -

Options:

GET IT ON
Google Play
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1) Volume
SRId

2) Capacity
YT T

3) area

4) Perimeter
T AT

Correct Answer: 2) Capacity
LRI

Candidate Answer: 2) Capacity
CIRGII

QID : 373 - Which of the following is an example of a cone?

Options:

1) Tent
2) Glass
DI

3) Ball
CIN]

4) Bottle
CIG]

Correct Answer: 1) Tent
a o

Candidate Answer: 1) Tent
d

QID : 374 - If we rotate a right angled triangle of height 5 cm and base 3 cm about its height a full turn, we get

mwmﬁ?WWSWHﬁWW DY B ISP SIS D UIE TS QI < GHY, A §H

Options:

1) cone of height 5 cm, base diameter 3 cm
P B HdTs 5 JA, YR oTB JHT

2) triangle of height 5 cm, base diameter 3 cm
oYl Pl VW'I_Sc 5T, SMYR o T

3) cone of height 5 cm, base diameter 6 cm
P B HdTs 5 JA, YR T AT

4) triangle of height 5 cm, base diameter 6 cm
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2o BT g 5 FT, SMUR - 1% !

Correct Answer: 3) cone of height 5 cm, base diameter 6 cm

TP B Hds 5 JA, YR T JHT

Candidate Answer: 2) triangle of height 5 cm, base diameter 3 cm

Yol GAl G;\‘I_'Gﬂ_sc 5 @Iﬁ, AMMYR  oTB JHT

QID : 375 - How much will be added to the largest 6 digit number to get the smallest 7 digit number?
6 3! aTch JaY g8 ¥ a1 7 foswmdmied R 7 3! aral 9ad St I a1 fora-
Options:

1) 10000
10000
2) 1000
1000

3) 100
100

4) 1

:

Correct Answer: 4) 1
1

Candidate Answer: 1) 10000
10000

QID : 376 - The greatest common multiple of 16 and 20 is-

16 R 20FTHE T JHAUT P o-
Options:

1)2

2

2)4

4

3)5

5

4) None of these

ﬁg &Y

Correct Answer: 2) 4
4

Candidate Answer: 4) None of these
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QID : 377 - Sum of -36 and 29 is

-36 3 29 HT AT §
Options:

1) -65
-65
2) 65
65
3)-7
7
4)7
7

Correct Answer: 3) -7
-7

Candidate Answer: 3) -7
-7

QID:378-|(2+(-3)+(-6)| =7
2+ (-3)+(-6) =7
Options:

1)7
7
2)-7
7
3)6
6
4)5
5

Correct Answer: 1) 7
7

Candidate Answer: 2) -7
-7

QID:379-9.75+3.05+0.2

9.75+3.05+0.2

Options:
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1)18.7
18.7
2)12.8
12.8

3) 16.8
16.8

4) 125
12.5

Correct Answer: 2) 12.8
12.8

Candidate Answer: 1) 18.7
18.7

QID : 380 - 72/10 — 583/100

72/10 — 583/100
Options:

1) 1.6
1.6

2) 1.37
1.37

3) 2.30
1.55
4)2.27
1.4

Correct Answer: 2) 1.37
1.37

Candidate Answer: 1) 1.6
1.6

QID : 381 - Multiplication of—-2,—7 and—10 gives
2,7 U100 HTIPAGT o BaTe
Options:

1)-34
34
2)19
19

3) -140
440

4) 90
90

GET IT ON
Google Play
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Correct Answer: 3) -140
440

Candidate Answer: 4) 90
90

QID : 382 - 7 paise is equal to
7R P RR T
Options:

1)Rs 0.7
07 W

2) Rs 0.07
0.07 W
3) Rs 0.007
0.007 W
4) Rs 0.0007
0.0007

Correct Answer: 2) Rs 0.07
007 W

Candidate Answer: 1) Rs 0.7
0.7 W

QID : 383 - What is the remainder when 2765 is divided by 67
T 2765 1 6 Q LS HITa & d AVBA BT 87
Options:

1)5
5
2)6
6
3)4
4
4)3
3

Correct Answer: 1) 5
5

Candidate Answer: 1) 5
5
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QID : 384 - Simon has 918 marbles. He wants to make packets of marbles, with nine marbles in each pack.
How many packs will he be able to make?

FIZH- P UMY 918 el §| 98 Dl & Udbe ST AgdI s, & U H A1 & 8l | 98 fobdHds o1 Uraim?
Options:

1) 12
12

2) 102
102

3) 162
162

4) 1062
1062

Correct Answer: 2) 102
102

Candidate Answer: 4) 1062
1062

QID : 385 - The total weight of Tania’s bag is 45 kg 750 g and Diana’s bag is 43 kg 950 g. whose bag is heavier
and by how much?

FTTaIT & ST 1 et ot 45 050 o SfIR STHAT o ol &1 o 43 peibs0 o | e Rl & 9k
o dH

Options:

1) Tania’s bag is 1 kg 800 g
o o1 &7 1 obeBo0 TR
2) Diana’s bag is 10 kg 800 g
ST b aT[ 10 f>HaB00 s::::::-ﬂ%
3) Tania’s bag is 10 kg 880 g
farar &1 9 10 OwaBe0 o
4) Diana’s bag is 1 kg 880 g
ST BT a'lT 1 s::::::-mso -::::;]'1%

Correct Answer: 1) Tania’s bagis 1 kg 800 g
AFaT e 1 DpaBoo TR

Candidate Answer: 1) Tania’s bagis 1 kg 800 g
farmar w197 1 S HaB00 :::::'-]T%

QID : 386 - Nina bought 5 kg of fruits. On the way home, she ate 750 g of fruits. How much fruit did she take
back home?

19 5 Fpebd TS| TR A0 99T I 750 <THhd WIT| 98 TR I9Y fobd-wd o 752
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Options:

1)4 kg 250 g
4 paps0 o™
2)5kg250¢
5 fowaps0 o™
3)6 kg 250 g
6 a:iij:sWSO «TH
4)7 kg 250 g
7 Pwdps0 o™

Correct Answer: 1) 4 kg 250 g
4fo®aps0 o™

Candidate Answer: 2) 5kg250g
5fo®dps0 oM

1 € SRISR §ommmv
Options:

1) 10 kilogram

10 .::::::eW-::::el'q

2) 100 kilogram

100 fowde™m

3) 1 kilogram

1 fowaem

4) 1000 kilogram
Eb—c,ﬁ]-q

Correct Answer: 2) 100 kilogram

100 Fowal-™

Candidate Answer: 2) 100 kilogram
100 SHAloT

QID : 388 - A and B are working on an assignment. A takes 6 hours to type 32 pages on a computer while B
takes 5 hours to type 40 pages. How much time will they take, working together on two different computers, to
type an assignment of 110 pages?

A 3R B U& BT WHH IR EIADI & T W 32 U9 TI8U A H 6 T T § Sfad B BT 40 US 7Y
PAT5EUCAA T & HAT-HAT S R WIS A BFHIPRA T, 1107 bl Th SHAZAHC 3T PRA T I
SHATHET T2

Options:

1) 7 hrs 30 min
7 °¢ 30 foume
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2)8 hrs

o

3) 8 hrs and 15 min
8 ¥¢ 3R 15 fouee
4) 8 hrs 25 min

g dc 25 fomre

Correct Answer: 3) 8 hrs and 15 min

8 ue 3R 15 forre

Candidate Answer: 3) 8 hrs and 15 min
8 ¢ 3R 15 e

QID : 389 - The class-mark of the class 30-40 is

30-40 &1 139 §:-
Options:

1) 10
10
2) 30
30
3) 35
35
4) 40
40

Correct Answer: 3) 35
35

Candidate Answer: 1) 10
10

QID : 390 - Which of the following is the probability of an impossible event?

27 20 W& Q D19 I Th 3/ GeT Bl GHIET 82

Options:

1)1

1

2)0

0

3) Between 0 and 1
03R1 & dg

4) None of these
21H @' a'ﬁ_sc s:i?i::-ﬂé:r

Correct Answer: 2) 0

GET IT ON
Google Play
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Candidate Answer: 3) Between 0 and 1

03iR 1% &=

QID : 391 - 10 belongs to the class interval ——
10 T ST P ST 37T § ——
Options:

1)0-10
0-10
2)10-20
10 - 20
3)0 - 20
0-20
4).0-5
.0-5

Correct Answer: 2) 10-20
10-20

Candidate Answer: 2) 10-20
10-20

QID : 392 - On subtracting first 25 odd numbers from first 30 odd numbers we get

Ay T3P geH IR BH ol Eﬂ?ﬂ %

Y 30 foaumd <13l T Yyw 25
Options:

1) 52
52

2) 375
375
3)5
5

4) 275
275

Correct Answer: 4) 275
275

Candidate Answer: 3) 5
5

QID : 393 - If NOIDA is written as OPJEB, then what will be the code for DELHI?
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1 NOIDA &1 OPJEB {2 ¢RaWTT @ DELHI T HIg  BNT?
Options:

1) EFMAK
EFMAK

2) EFAMK
EFAMK

3) EFMIJ
EFMIJ

4) EFMIK
EFMIK

Correct Answer: 3) EFMIJ
EFMIJ

Candidate Answer: 4) EFMIK
EFMIK

QID : 394 - A person got a 10% increase in his salary. If his salary was Rs. 50000, then the new salary is:
TH FATT10% PG 3| &g 3THT I 50000 . &, O 741 I g:
Options:

1) Rs. 55000
. 55000

2) Rs. 60000
. 60000

3) Rs. 45000
. 45000

4) Rs. 65000
. 65000

Correct Answer: 1) Rs. 55000
. 55000

Candidate Answer: 2) Rs. 60000
. 60000

QID : 395 - BD is the diagonal of parallelogram ABCD such that 2CBD=12x,2ABD=7y,2ADB=60° and
CDB=28°.Then the value of 2x+3y is:

SHIHHIAR IgYSI ABCD 1 [2dhUBD §H PR % = CBD=12x,2ABD=7y,2.ADB=60° 3R ~CDB=28° %I oid
2x+3y DT HIH %:

Options:

1) 21°
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21°
2) 22°
22°
3) 23
23°
4) 20°
20°

Correct Answer: 2) 22°
22°

Candidate Answer: 1) 21°
21°

QID : 396 - National Education Policy (NEP) 2020 recommends that Sports Integrated Pedagogy needs to be
used in classroom teaching. Which among the following are correct in the context of using sports integrated
pedagogy in mathematics classroom? (a) Teaching-learning process shall become joyful. (b) It is not possible to
use sports for teaching mathematics. (c) It will be time consuming and hence needs to be avoided. (d) Apart
from popular sports, there are many indigenous sports which can be used in teaching mathematics. Choose the
correct option :

31 < =1 i, 2020 0T IR § Do Taied =1 oRT $1 & o1 ITN FA 3 319 Il ¢ | Jd
THIPpd 0% oT—M & eH # R ot & o1 Daw R T 7 @ &F 91 Hy9 98 82 (a) Do ofderm foar
&nqa?maﬁ‘fawm @ammﬂﬁmmﬁnﬂuﬁ TR (c)STA T T THY T g ST ot 39 o]

Options:

1) (b) and (c)

(b) 3R (c)

2) (a) and (d)

(a) 3R (d)

3) (b), (c) and (d)
(b), (c) 3R (d)

4) (a) and (c)

(a) 3R (c)

Correct Answer: 2) (a)and (d)

(a) 3R (d)

Candidate Answer: 4) (a) and (c)

(a) 3R (c)

QID : 397 - ABCD is a rhombus in which 2ZADB = 25°. Then, the value of ( 22BAD - ZABC ) is
ABCD T&% JHIJYS § , {05 ADB = 25° 81 A4, (2 2 BAD - 2 ABC ) &I HF &
Options:

1) 230°
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230°
2) 240°
240°
3) 210°
210°
4) 260°
260°

Correct Answer: 1) 230°
230°

Candidate Answer: 3) 210°
210°

QID : 398 - What is the mean of the mode, median and range of the data given below?
17,8,11,13,9,14,10,11,16,23,15,7

TR cum P S TP , AT TP AR UIMBIAT YT AT8? 17,8,11,13,9,14,10,11,16,23,15,7

Options:

1) 13
13

2) 125
125
3) 13.5
135
4) 12
12

Correct Answer: 1) 13
13

Candidate Answer: 1) 13
13

QID : 399 - A shop reduced its prices by 10% . What is the new price of an item which was previously sold for %
500 ?

TP M A U B H 10% PI HHI B | T THMH B I3 DA AT 5, Ol Ugal T 500 H o relt &t 2
Options:

1) 510
510
2) 550
550
3) 450
450
4) 400



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

400

Correct Answer: 3) 450
450

Candidate Answer: 1) 510
510

QID : 400 - Which one of the following methods is most suitable for teaching mathematics at upper primary
level?

3 9 IRTEH®R W [Aud ggH & foau

a7 Y - P fawad Rree 3ug 9§ 2

Options:

1) Demonstration method
2y oy

2) Lecture method

g1 gH fofdy

3) Activity-based learning

frffae-smer ¥d fremmm

4) Problem-solving method

a0 grgaEyH ffay

Correct Answer: 4) Problem-solving method
9 grgayH fofay

Candidate Answer: 2) Lecture method
g1 g ffay

QID : 401 - What should be connected with family education, so as to enhance the results?
TRAIG W B IY HIST O =18, fid U Yo d8aR 81 9 ?
Options:

1) Information technology
2) Administration

RURSE]
3) Political power
NEICIRER
4) Human resources
EIECERINE

Correct Answer: 1) Information technology

Candidate Answer: 3) Political power

NSIRIRER
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QID : 402 - Animals that live in jungle are called
TSl | X6 a1l SIaR] &1 Bl §ildl 8

Options:

1) wild animals
CUNIECIEGH

2) all of these
gt

3) farm animals

Wd & SR

4) pet animals

BINGRSIRER

Correct Answer: 1) wild animals

SHTEH STHaR

Candidate Answer: 1) wild animals

ST SIFaR

QID : 403 - Lizard claws are used as
Options:

1) Aids in catching prey
ORIBTIGH S | g ST §
2) Aids in climbing

TGTS H FETI Bl 3§

3) Aids in laying eggs

38 T H FETIdl Bl §

4) Hurdle in running fast

CEECRE I

Correct Answer: 2) Aids in climbing

TGTS | TETI Bl §

Candidate Answer: 3) Aids in laying eggs
38 T T Tl Rl §

QID : 404 - Which of the following do not belong to the mammal family?

Pafdeadeq  Furl uaR ¥ delyasTd?

Options:
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1) Dog

P ol
2) Whales

3) Bats
JHIGS
4) Frog
Hedh

Correct Answer: 4) Frog
Hedh

Candidate Answer: 1) Dog
P ol

QID : 405 - Ants move in a line because of their sense of:-
TR MTaAT S FRUTH U T Tald! §:-
Options:

1) sight.

ENED

2) smell

7.

3) taste.
[

4) hearing.

qu]

Correct Answer: 2) smell
Ty,

Candidate Answer: 2) smell
T,

QID : 406 - How many players play in a basketball team at a time?
TH a1 cqid ¢ J U 99T J Odhaadrs! Wad g2
Options:

1)4
4
2)5
5
3)2
2
4) 1

GET IT ON
Google Play
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Correct Answer: 2) 5
5

Candidate Answer: 1) 4
4

QID : 407 - The small children who are forced to work is considered as

SFBIC T WHH PRI AA G, S ——-——--TH 1l &
Options:

1) Player
Tars!
2) Plumber

R
3) Child labour
qdid H
4) Teacher
BOIGD

Correct Answer: 3) Child labour
dd H

Candidate Answer: 3) Child labour
g H

QID : 408 - Which energy we get by burning of fuels?
YT ST A gH P AT oM o7 Bl &2
Options:

1) heat
TH
2) none of these
3?5[ @f ﬁ'é' s:j?j::-:l_bpf
3) light

DI
4) solar

R

Correct Answer: 1) heat
™

Candidate Answer: 1) heat
TH

GET IT ON
Google Play
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QID : 409 - Why do we keep food and vegetables in the refrigerator?

FHEATRY  Iifow |
Options:

1) To keep them fresh.
RAGICIRSCE AR IY

2) To make them crisp.

3 PRI I & oAU

3) To make them more tasteful

3 IR Presm s iae
4) None.

ﬁ'ﬁt -:::::::-:[33[

Correct Answer: 1) To keep them fresh.

I Al e & foan

Candidate Answer: 1) To keep them fresh.

I A& & foan

QID : 410 - In which one of the following states of our country do most people like to eat sea fish cooked in
coconut oil?

TR AT A DFw A Rudar A 1 0d & ad | UHhls T8 99 HS QT U¥E Hd 82
Options:

1) mizoram

3) jammu and kashmir
S Qﬁ? F R

4) bihar

o dBIN

Correct Answer: 2) goa

T

Candidate Answer: 2) goa

ic]

QID : 411 - Rehana goes to Kerala along with her family. There she sees tall trees which are very different from
those in her hometown, Shimla. Which trees could she have seen in kerala?

YGMT 30 U IR & 1Y B Ol § | T8T 98 Fa-3d US Sl § off ISP TR OuHaw Ui A §d e gl
T IRA DI I S T g
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Options:
1) coconut
BIRCN]
2) apple
9
3) litchi
NIE!
4) pine
CECIN
Correct Answer: 1) coconut
BIRCH
Candidate Answer: 1) coconut
BIRCN]

QID : 412 - Glass jars and bottles are dried well in the sun before filling them with pickles. Why is it so?

Hid B IR AR ANdl Pl AR Y RA VUG YU T 3 WG GO S g1 W& &/

Options:

1) to increase their temperature

2) to remove the dust from them
I Yo geH & fodu

3) to remove the moisture completely
T 1 gt TRE Y geH &> e

4) to make pickles tasty

IR B g §H & e

Correct Answer: 3) to remove the moisture completely

T 1 ) e @ ger & Py

Candidate Answer: 4) to make pickles tasty

AR @ PrRTH & o

QID : 413 - Which of the following is the main purpose of carbohydrates in the body?

AT T AP M RRABEERS THIY 3 82

Options:

1) They provide chemicals repairing cells, and aid in digestion.

3 fPIR@Iafl ST AR T = aldl [T & PR 8, AR U | FgTIal X

2) They help regulate hormones and maintain body temperature within the body
Igma B 3R TRR & R IRR & AT BT SHIE T H AEG Hd 8

3) They are the main source of energy for everybody.
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JafiF a1y &I
4) None of these

SHIADE ST

Correct Answer: 3) They are the main source of energy for everybody.

CRCABG I ks SIS

Candidate Answer: 3) They are the main source of energy for everybody.

JafiF a1y oI&|

QID : 414 - Change of water into water vapour is known as

A BT FAd]  H Y IgdT bl CRT IR
Options:

1) Condensation.
I qu.

2) Evaporation.
da1 W

3) Sedimentation
SENIGE

4) All.
T

Correct Answer: 2) Evaporation.

dar W

Candidate Answer: 4) All
.

QID : 415 - Who was not the first person to climb on top of Mt. Everest?
AR¥C AR I AIc W g ardl gl D Td?
Options:

1) Sherpa Tenzing.
YT dAfSiT

2) Sir Admond Hillary
WQ@II:C'; a:ij‘:eé'@

3) Shushil Kumar.

id HAR

4) None.

ﬁ_ﬁt Rl

Correct Answer: 3) Shushil Kumar.

e AR

Candidate Answer: 1) Sherpa Tenzing.

A\ A\

GET IT ON
Google Play
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QR ST

QID : 416 - Where is Golconda Fort situated?
Magel fowamel Ud 82

Options:

1) Hyderabad.

2) Madras.
H o
3) Mumbai

e

4) Gujarat.

Correct Answer: 1) Hyderabad.

Candidate Answer: 3) Mumbai

.

QID : 417 - Where is the Gateway of India situated?
g offth Sfogamel  ud g2
Options:

1) Mumbai.
s

2) Delhi.

3) Chennai

e
4) Bangalore

g

Correct Answer: 1) Mumbai.

s

Candidate Answer: 2) Delhi.
oqQ CT

QID : 418 - Which National Highway connects Delhi and Kolkata via Varanasi

DI RS IR & AT A Y g BIR DIl o Sisdl g2

GET IT ON
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Options:

1) NH4
TTud4
2) NH10
Q10
3) NH2
THTE2
4) NH6

TTT6

Correct Answer: 3) NH2
T2

Candidate Answer: 1) NH4
UU4

QID : 419 - The position of Indian Railways network in the world is
YR XA Acdd HI a3 7 4§
Options:

1) Second

UGN
2) Third
TR

3) Fourth
T

4) Fifth
LIEG|

Correct Answer: 1) Second

[N

Candidate Answer: 1) Second

SN

QID : 420 - Railways are more in North Indian plains because

I HRA P AcHI sarhl AYad Rigs g i

Options:

1) The area is more productive

I8 ~RrEpIcres g

2) It is densely populated

g T SATETET aTel &

3) The region offers least physical resistance
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4) All of these
gt

Correct Answer: 4) All of these

gt

Candidate Answer: 4) All of these
g gt

QID : 421 - Which of these became one of the first animals to fly into the space?
AT @@ TP AT A ISH HA I U SHaR] 7 J U & 77|
Options:

1) House
U

2) Dog
D ol

3) Lizard

Correct Answer: 2) Dog

P o

Candidate Answer: 3) Lizard

QID : 422 - Collecting rainwater from the rooftop to a storage tank, through pipes is called

TAIYURU G AT H Y IV 3 I HSRUI e H Ufhd  HRAT P gl

Options:

1) rooftop rainwater harvesting
Bd R IV o Ao

2) storage harvesting

HSRUI Hels

3) conservation of water
Sd W U

4) cleaning water

BTg T U

Correct Answer: 1) rooftop rainwater harvesting
Bd R I 9 e

Candidate Answer: 1) rooftop rainwater harvesting
Bd R IV S Hea

GET IT ON
Google Play
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QID : 423 - Which of the following is called 'Universal Solvent'?

Options:

1) Milk
Q¥

2) Ol
ad

3) Water
grT

4) Petrol

LN

Correct Answer: 3) Water

grt

Candidate Answer: 4) Petrol

Ut

QID : 424 - What do we call the animals that are capable of living both on land and in the water?
TISAIAFIRI Bl WHgd 8 off THH 3R UMl gHI IRW|A AT H 2
Options:

1) Mammals
TR

2) Amphibians

JHIIR

3) Aquatic

S

4) Hydrophytes

Correct Answer: 2) Amphibians
SHIIR

Candidate Answer: 2) Amphibians
SRR

QID : 425 - Which of the following statement is true.

Options:
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1) Businesses and industries are responsible for water pollution
o guur > [Ty LG R R2) Gh? 3 e ﬁ'l'\r ®
2) The flow of water increases in summers
& BIATA DI dIE §¢ oIl §
3) Swimming in unclean water is healthy
TS U AIRAT o qus e
4) 28% of water on earth is available for drinking

g IR 28% Ut ¥R & a@ua §

Correct Answer: 1) Businesses and industries are responsible for water pollution

S g S T a9 SR I SMioT aR

Candidate Answer: 2) The flow of water increases in summers
A FYUTA DT dTE ¢ Il §

QID : 426 - The diseases cholera, typhoid and jaundice are due to the pollution of
B, TS R il F oIS HRUEIA

Options:

1) water
gyt

2) air
B

3) land

yfow

4) noise

CE

Correct Answer: 1) water

grt

Candidate Answer: 1) water

grt

QID : 427 - How much water should you drink daily for good health?
Options:

1) 1-2 glasses
1-2 17Ty

2) 3-4 glasses
3-4 17T

3) 6-8 glasses
6-8 T eIy

4) 15-20 glasses

GET IT ON
Google Play
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15-20 T T

Correct Answer: 3) 6-8 glasses
6-8 EI:?W

Candidate Answer: 3) 6-8 glasses
6-8 T 3Tel Y

QID : 428 - A shelter us.
U 3T gURL

Options:

1) Beats
Yghl B

2) protects
g ofhdl %
3) eats

el 8

4) all of these
T 9 94t

Correct Answer: 2) protects

R < #prdl %

Candidate Answer: 2) protects
P W8

QID : 429 - Some old houses in Srinagar have a special window which comes out of the wall known as
SRS 8 M W T TS 098 TSP Il § Sl QAR ¥ fOAdade foorknel oidl &

Options:

4) Mehraab

=R

Correct Answer: 3) Dab
Sq

Candidate Answer: 1) Lekha

SRell
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QID : 430 - In cities, there are tall buildings called
3! 7 el gARA Bl 8 oW EZISICIE
Options:

1) multistory buildings

3) balconies
CINIEED]
4) igloos

Correct Answer: 1) multistory buildings

37 agaRd

Candidate Answer: 1) multistory buildings
CRABEIEEI R

QID : 431 - Potatoes, cereals, beans, pulses and oats are rich in
3T, SIS, §H, A@SIRSE 4 9q 3l

Options:

1) Proteins

2) Vitamins
Safer
3) Minerals

et
4) Carbohydrates

CACRERE

Correct Answer: 4) Carbohydrates

HEERS T

Candidate Answer: 1) Proteins

QID : 432 - The addition of these adulterants lowers the value of food.

SHaTacH! oA HIsH &1 T HHG OBl

Options:
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1) Substance
Yay

2) Quality
1IU'|H ol

3) Nutrients
Uiy

4) Quantity

Correct Answer: 3) Nutrients

U d

Candidate Answer: 3) Nutrients

U d

QID : 433 - Adulterants are substances or low-quality goods that are intentionally added to food for economic or
technical reasons.

foudea™ gery a1 {3770 orare I § 09 SHegieR Riye a1 deiiet SRl § HisH J oA ]
Options:

1) Can be true or false
q U P EbATS
2) Cannot say
-::I?,::‘:[@')%' b %
3) TRUE
Rl
4) FALSE
3

Correct Answer: 1) Can be true or false
¥ qo g ubdls

Candidate Answer: 2) Cannot say

QID : 434 - Water plays an important role in the functioning of our body because it

U AR YRR & HHGS A TS 08 QU Yforash -y foms ?

Options:

1) Dissolves a large number of substances
a?,?r I oHUSY CARIE| %

2) Is hard

FOR ©

3) Is transparent

UREY ¥

4) Nons, of these
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FHAFE

Correct Answer: 1) Dissolves a large number of substances

a@_ﬁ I oHUGY CaRI K] %

Candidate Answer: 4) None of these

ERLEl ﬁg SR

QID : 435 - We group things together because

Options:

1) Dividing materials in groups makes it convenient to study their properties and observe patterns in these
properties.

Il & gggl A foafiTsTan I 3% 0N BT 3 I BT 3R 39 01 | Ued &1 oo e gloaursHag!
iG]

2) We can throw away similar materials

U UM Wl &1 theh Febd B

3) We can keep similar materials in our rack at one place

IO AT &1 §H 3 XS A TG U IR 39 9ohd B

4) We can keep similar materials on the palm

TH3Y BR B! M ol gl IR 3@ Tobd &

Correct Answer: 1) Dividing materials in groups makes it convenient to study their properties and observe
patterns in these properties.

I 1 wE! 7 DaTeTah ¥ I 0l &1 3 T HAT 3R 37 01 7 Ued &1 {001 e
ST B

Candidate Answer: 1) Dividing materials in groups makes it convenient to study their properties and observe
patterns in these properties.

A 1 wg! # R afTerdnR ¥ I 0l BT 31 I HAT 3R 37 0N A Ued &1 748 v el Yiogurerag!
iG]

QID : 436 - They are primary consumers
3 oyl %
Options:

1) Tiger and Bear

TG 3R HIS.

2) Rabbit and deer
T[N 3R = gRU[

3) Tiger and lion

9 3R TR

4) Human being and bear

UM 3R U]
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Correct Answer: 4) Human being and bear

M 3R U

Candidate Answer: 4) Human being and bear

M 3R U

QID : 437 - The plants and animals that live on land are said to live in habitats ?

HET ST & DA AR 67 a1a 1Y 3R JFaR S{TaTEl A X8 872
Options:

1) Terrestrial habitats
Uiy Sfar
2) Aquatic habitats
ERIREICIR
3) both Terrestrial habitats and Aquatic habitats
T 3R ot g

4) none of these

THADE TR

Correct Answer: 1) Terrestrial habitats

YA 3

Candidate Answer: 3) both Terrestrial habitats and Aquatic habitats

T 3R &t gt

QID : 438 - The process of breathing of living organisms is called ?
fSftaa Sfiaf & wa e &t a1 &t BT ST 572
Options:

1) Respiration
g4

2) Photosynthesis
DY U

3) Stimuli

4) Excretion

3 oH

Correct Answer: 1) Respiration
g

Candidate Answer: 4) Excretion
[SERSE
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QID : 439 - 1 m ( Metre ) = cm ( Centimetre ) ?

1 Hiex (#fiex) = Tt (FtHIeR)?
Options:

1) 10
10

2) 1000
1000
3) 100
100

4) 110
110

Correct Answer: 3) 100
100

Candidate Answer: 3) 100
100

QID : 440 - Which is a standard unit of measurement?

AT &) AFS ShTs B It 872

Options:

1) Finger
Jredt

2) Fist

q (T

3) Step
haH

4) Inch
EE

Correct Answer: 4) Inch

EE|

Candidate Answer: 4) Inch

e

QID : 441 - In which year, the Sl system was recommended by general conference of weights and measures?
Doy qo IR AU F T T o oRugeS urel 3 g vl v die
Options:

1) 1950
1950
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2) 1960
1960
3) 1970
1970
4) 1980
1980

Correct Answer: 2) 1960
1960

Candidate Answer: 2) 1960
1960

QID : 442 - Which of the following statements is or are incorrect?

Wam;;‘%ﬁmo?wﬁfma%wwﬁg@ww SR 1 o aTHg @ g At ekl & o Bt gl
480 T:»

Options:

1) The movement of an object is called stationary-motion.

10 G¢

2) The movement or duration in which things occur is called time

1149

3) An object is said to be in motion or moving when its position changes with time

14 4¢

4) When the position of the car changes with, we say that the car is moving or that the car is in motion.

12 G

Correct Answer: 4) \When the position of the car changes with, we say that the car is moving or that the car is
in motion.

12 °9¢

Candidate Answer: 1) The movement of an object is called stationary-motion.

10 °¢

QID : 443 - is a safety wire which protects us from electric shocks and electric fire.
Th PR AR g ot g1 Poaoicip e 3R foaoTeip! ST 2 s=raT 8|
Options:

1) Earth wire

Y IR T A § ST IR
2) Neutral wire

dc ¥/ dddR

3) Live wire
dRddRATfag Tar

4) None of these

THADE TR
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Correct Answer: 1) Earth wire

Y IR T S ¥ GST dR

Candidate Answer: 1) Earth wire

Y IR T S ¥ JS1 dR

QID : 444 - Electrical wires and parts of electrical appliances are covered with

S oleith dR 3R P aeielth IuBul & & o Jedh Eﬁﬁ ®

Options:

1) Silver

Tid

2) Copper

GIEIl

3) Gold

il

4) plastic
o] D

Correct Answer: 4) plastic
G

Candidate Answer: 4) plastic
ol B

QID : 445 - The outermost layer of earth is called
g ! e 9183 IR HeTdl o

Options:

1) mantle
Hcd

2) outer core
T PR

3) crust
ot

4) inner core
3id B PR

Correct Answer: 3) crust

LEE]]

Candidate Answer: 3) crust

LEE]]
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QID : 446 - Lightening occurs due to

3Ry el TR SR B @

Options:

1) Electric discharge
IBCEN:a!

2) Rain

CIESY

3) Wind

'dl

4) Lord Varun’s anger
JU AP oY

Correct Answer: 1) Electric discharge

s::;:::-a\_:ﬁﬂﬂ o ded

Candidate Answer: 2) Rain
CIESY

QID : 447 - During a thunderstorm which action may be done?
THH & SRA B I 571 3 51 Tebell 82
Options:

1) Using Telephone having cord
DIS dTet T BT FUNT HRAT
2) Switching on/off electric lights
Sqolcibl g TTq/sa Rl

3) Using a mobile phone

HISTSd B BT SUIRT BT

4) None of these

SHIAPE ST

Correct Answer: 3) Using a mobile phone

AIa3d B &1 STIANT HIAT

Candidate Answer: 4) None of these

THADE TR

QID : 448 - World Water Day is celebrated on

o9 o fogag CAR-CIRIAvIRIRC|
Options:

1) 45372
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21 99
2) 45373
22 UrE
3) 45464
21 5

4) None of these

THIADE o

Correct Answer: 2) 45373
22 419

Candidate Answer: 2) 45373
22 41

QID : 449 - What makes an object or substance a resource?

SHAE JT UG I FATT 87
Options:

1) Availability
3Iud T
2) Utility

3) Reliability
o9 FHdT
4) Reachability

Correct Answer: 2) Utility

Candidate Answer: 3) Reliability
BCRSEIRGI)

QID : 450 - The resources which get renewed or replenished quickly are called?
I o 2t died a1 g gfo @l S §, weend 82
Options:

1) Natural resources
@Hﬂ'ﬂmﬂ:{

2) Renewable resources

ECICRUIRCRINE ]

3) Non-renewable resource

IRt AT

4) Human resources

EIECRSRINE]
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Correct Answer: 2) Renewable resources

BEICAUIRERINE]

Candidate Answer: 2) Renewable resources

BEICRUICRIIOE]
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